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sustainable 7 modifications
perceptible 8 adjustments
increasingly 9 acquisition
development 10 relaxation

48.2 If prices fluctuate they go up and down; they change a lot.

If a disease is eliminated none of it remains, it disappears completely.

If interest in something is diminishing it is becoming less.

If there is a marked change in someone’s behaviour it is probably a big change. Itis a

noticeable change. :

5 If most people feel that mobile phones enhance their lives, they feel that their lives have
become better.

If controls on imports are relaxed they become less strict.
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1 recovering 3 refine 5 adjust 7 maintain
2 converting 4 abandon 6 status quo 8 restore
1

48.4

in ' 3 away from 5 on . 7 from
2 to (or from or out offy 4 on 6 to adjust to changes 8 to

Unit 49

49.1 1 misguided, inadequate 3 important, significant 5 unique
2 ground-breaking 4 crucial

49.2

credit, acknowledged, crucial 3 challenged, validity, flawed, limited
borne, mistaken, evidence, flaws 4 viewed, seminal/ground-breaking, ground-breaking

49.3 By no means is it certain that all the students will pass their final exams.

He had never before taught such an outstanding student.

Rarely has the country witnessed such a display of public feeling.

We will in no way / We will not in any way be able to halt the process of global

warming. / We will not be able to halt the process of global warming in any way.

5 Under no circumstances will students be allowed to defer the completion of their thesis
longer than one month.

6 Only when we gather a lot more data will we know the answer.
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49.4 1 highlights 3 compatible s worth recalling, limited
2 solid 4 comprehensive, key 6 underlines

Unit 50

£0.1 1 In conclusion, the tests suggest the drug has no dangerous side effects.
2 To summarise, losing the war was a humiliating defeat for the country on 2 number of

different levels.

3 In summary, it is impossible to blame the disaster on one person alone.

4 From the survey we can draw the conclusion / come to the conclusion that advertising
has a stronger effect on teenage girls than on other groups of the population.

5 To recapitulate, there were 2 aumber of different reasons why the experiment was less
successful than had been hoped.

50.2 1 balance 3 put, eventually 5 analysis 7 points
2 abstract 4 provide 6 words 8 close

50.3 1 atlast 3 Lastly 5 at last
2 lastly 4 at last
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